To add two four digit numbers with one exchange using the formal written method

	
	Th
	H
	T
	O

	
	2
	4
	5
	6

	+
	1
	3
	2
	4

	
	3
	7
	8
	0

	
	
	
	1
	



1) 2607 + 1323 =

2) 2305 + 3525 =


3) 4517 + 2364 =

4) 2552 + 4512 =

5) 7653 + 1537 =


6) 5548 + 3303 =

7) 1652 + 3275 = 

8) 5415 + 2492 =


9) 2374 + 7394 = 

10) 3793 + 5144 =

11) 3124 + 4682 =


12) 4763 + 4145 =





Kate says has calculated these correctly. Is she right? Explain your reasoning.

	
	Th
	H
	T
	O

	
	7
	5
	8
	3

	+
	2
	2
	0
	9

	
	9
	7
	8
	1

	
	
	
	2
	


	
	Th
	H
	T
	O

	
	3
	5
	7
	2

	+
	5
	3
	3
	4

	
	8
	8
	0
	6

	
	
	
	
	





2456 + 1324 =  








